CVL203 - Practice Problems - Vertical Curves

Problem 1

Grades g1 of -2.5% and g2 of +2.5% meet at the VPI at station 4+200 and elevation
293.585 m. Compute and tabulate full-station elevations for the equal-tangent
vertical curve having a length of 300-m (Use 60-m stationing). Determine the
location and elevation of the lowest point.
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Problem 2

Grades g1 of +3.0% and g2 of -2.0% meet at the VPI at station 2+175 and elevation
157.830 m. Compute and tabulate full-station elevations for the equal-tangent
vertical curve having a length of 150-m (Use 60-m stationing). Determine the
location and elevation of the heighest point.
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